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SANSKRIT 
 
 
Time: 3 hours.                                                              .                           Max. Marks: 80 

 
Note : “Section-D” should be answered in Sanskrit (Devanagari script) only 

 
SECTION – A 

 

I. एकं समाध� ।                1x12=12 

Answer one essay question  
 

1. �ितमानाटके  ततृीया�के समुपव�ण�त�य �ितमागृह�य �ाधा�यं �ितपादयत। 

Explain the importance of �ितमागहृ in the III act of  �ितमानाटक। 

2. किल�गान ्जेतुम ्अशोक�य �वचारः कथमासीत?् त�नाटक�दश�न�या� �योजनं 

�कम?् �वशदयत।  

How did अशोक think to concurकिल�ग? What is the purpose of the drama? Explain. 

 

II. एकम ्समाध� ।           1x12=12 

                                          
Answer one essay question  

1. शुकनाशोपदेश ेव�ण�तं ल�मीचा�च�य ं�वशदयत।  

Explain the fickleness Lakshmi in शुकनाशोपदेश lesson. 

2. भोजः कथं सुकवीन ्स�मािनतवान?् �वशदयत।  

Explain, how did Bhoja honour the good poets. 
 

III. एकं समाध�।            1x8=8 

                        
Answer any one. 

1. गु�ः िश�यान ्�कमनुशा��त? 

What does the teacher preach disciples. 

2. बहृदार�यकोपिनष�द व�ण�तानुसारं दकार�य�य वैिश��यं �वचारत। 

Explain the greatness of three “द”karas as described in बहृदार�यकोपिनषत।् 

 
 

SECTION – B 
 

IV. च�वा�र सस�दभ� �या�यात।                         4x3=12 

Explain any four with reference to context. 

1. दशरथपु�ो भरतोऽ��म, न कैके�याः।  

2. अ�ा�प च�ेनानुसरेः �वधम� भ�व�यिस �वं �भुद�डपा�म।् 

3. दम ंदानं दयािमित। 
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4. मातदेृवो भव। 

5. स���पभषूणां पुन�व�जय�ववसु�धराम।् 

6. न �ह सव� भवा�शाः। 

 
 

SECTION – C 
 

V. �योः लघु�ट�पणी ंिलखत।            2x5=10 

Write the short-notes of any two. 
 

1.पा�णिनः 2. भार�वः 3. �ीहष�ः 4. श�कराचाय�ः   

 

VI. �ौ अल�कारौ ल�यल�णसम�वयपूव�कं �वशदयत।         2x5=10 

Explain any twoAlankaraswith definition & illustration. 

1. उपमा 2. अन�वयः  3. ��ा�तः    4. �याज�तुितः  

 
 

SECTION – D 
 

VII. A)�ौ श�दौ स�वभ��कं स�पूण�तया िलखत।          2x5=10 

     Decline any twosabdas completely. 
 

1. म�त ्  2. राजन ्    3.यु�म�    4.त� (पुंिल�गे) 

  

B) ष�णाकृं���ययं योजिय�वा श�द�पा�ण िलखत।                  6x1=6 

Write the forms of any six by adding the terminations. 

 1.�ज+��वा  2.गम+्तुमुन ्  3.उपकृ+�यप ्  4.दा+�

 5.पच+्श� ृ  6.वतृ+्शानच ्           7.िलख+्�वत ्  8.कृ+त�य  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


